

## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-54755-674b14850533b

**VERIFY.FTGS.US** Date: November 30, 2024

Consignor reference: LOG4461 KWI02 127-104861

Seller (Exporter) Cloudflare Inc.	Transport Type Air	Port of Loading MIA
101 Townsend Street San Francisco	Destination Country	Destination Port
CA 94107	Kuwait	KWI
USA		
	Export Date	Exporting Carrier TURKISH AIRLINES
Consignee		
BIT Advanced Technology General Trading Co. Shaker Al-kazemi Building #8, floor 3 and Flat 28 Khaled Ibn-Waleed Street, Sharq	Import Permit Number	Bill of Lading / AWB 235-66261381
Kuwait City 13160 Kuwait	Owner or Agent	Forwarding Agent
Ruver (Importer)	Remarks	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
SM LC-LC FIBER OPTIC PATCH CABLE, 2M	0.27 KG	Vietnam
H.S.Code: 8544700000		
MPO Fanout 8xF MPO F -LC SM G.657A1 MicroCable 3mm OD Plenum Yellow, 18IN Breakout, 2.1M	0.14 KG	Vietnam
H.S.Code: 8544700000		
C13-C14 1.8M/6FT POWER CORD, 10A BLUE, C14 P-LOCK ONLY	2.22 KG	China
H.S.Code: 8544429090		
C13-C14 1.8M/6FT POWER CORD, 10A RED, C14 P-LOCK ONLY	2.22 KG	China
H.S.Code: 8544429090	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
BENFEI Mini DisplayPort to VGA Adapter, Mini DP Display Port to VGA Male to Female Adapter for	0.06 KG	China
ThinkPad SurfacePro PC		
H.S.Code: 8544421000		
Arista 7050X3, 48x25GbE SFP & 8x100GbE QSFP switch, 2xAC, 2xC13-C14 cords	15.88 KG	Mexico
H.S.Code: 8517620080	A CARLANTANT	
1G SFP-T CO RJ45 Cisco Compatible Transceiver Module	0.05 KG	United States
H.S.Code: 8517620085	/ <b>/</b> //////////////////////////////////	

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant provides the continuous properties of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-54755-674b14850533b **VERIFY.FTGS.US** Date: November 30, 2024

Destination Country  Kuwait	Destination Port KWI
Export Date ************************************	Exporting Carrier TURKISH AIRLINES
Import Permit Number ************************************	Bill of Lading / AWB 235-66261381
Owner or Agent	Forwarding Agent ************************************
	Export Date **************  Import Permit Number ************************************

Buyer (Importer) Remarks

Consignor reference: LOG4461 KWI02 127-104861



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Precision Branded QSFP LR4 40G Optical Transceiver	0.73KG	United States
H.S.Code: 8517620085		
Precision Branded QSFP28 LR4 100G Optical Transceiver Module	0.18 KG	United States
H.S.Code: 8517620085		
SFP28, Passive DAC, 25G, 2m, 30AWG, I-Temp	1 KG	United States
H.S.Code: 8544429090		
16TB Gen 12 Edge Server	178.73 KG	United States
H.S.Code: 8471500150	XXXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
16TB Gen 12 Edge GPU Server	32.68 KG	United States
H.S.Code: 8471500150		
CAT5 PATCH CABLE, RED, 4M	0.34 KG	Mexico
H.S.Code: 8544422000		
CAT5 PATCH CABLE, ORANGE, 2M	0.50 KG	Mexico
H.S.Code: 8544422000		
======================================		

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant provides the continuous properties of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

2024
30,
/November
4850533b
55-674b1
-000-5475
H

		Comn	nercial Inv	voice	)						
EXPORTER:			Invoice Date					Invoice Number			
	end St., San Francisco CA 94107, US		Jun 27, 202	24				LOG4461KWI02			
	,										
			Internal Refer		nber						
			SNM0624V								
Tax Identification Number (EIN) 87-329411000			Parties to Tra	nsaction				Other References			
07-329411000			_Related _Non-Rel	ated				127-104861			
IMPORTER: BIT Advanced Technology Ger Shaker Al-Kazemi Building # 8 Khaled Ibn-Waleed Street,Sha Kuwait City 13160 Kuwait. Contact Name:Mr. Syed Abdul	, floor 3 and Flat 28 rq, Qadeer										
Contact Number: +965-997576	04										
Part Number	Complete Commodity Description	Country of Origin	HTS/Schedule B	ECCN		License/ License Exception	Quantity/	Unit of Measure	Unit Valu	ie	Total Amount
110626-002M	SM LC-LC FIBER OPTIC PATCH CABLE, 2M	VN	8544700000	EAR99		C33	10	each	\$5.50		\$55.00
110722-002.1M	MPO Fanout 8xF MPO F -LC SM G.657A1 MicroCable 3mm OD Plenum Yellow, 18IN Breakout, 2.1M	VN	8544700000	EAR99		C33	5	each	\$46.79		\$233.95
14K13-F-072-BLU	C13-C14 1.8M/6FT POWER CORD, 10A BLUE, C14 P-LOCK ONLY	CN	8544429090	EAR99		C33	11	each	\$10.50		\$115.50
14K13-F-072-RED	C13-C14 1.8M/6FT POWER CORD, 10A RED, C14 P- LOCK ONLY	CN	8544429090	EAR99		C33	11	each	\$10.50		\$115.50
B0795NH9Z2	BENFEI Mini DisplayPort to VGA Adapter, Mini DP Display Port to VGA (Thunderbolt Compatible) Male to Female Adapter for ThinkPad SurfacePro PC	CN	8544421000	EAR99		C33	2	each	\$8.59		\$17.18
DCS-7050SX3-48YC8-R. ARISTA	Arista 7050X3, 48x25GbE SFP & 8x100GbE QSFP switch, rear-to-front air, 2xAC, 2xC13-C14 cords	MX	8517620080	5A991		C33	1	each	\$2,565.88	3	\$2,565.88
GLC-T-GT	1G SFP-T CO RJ45 CISCO COMPATIBLE TRANSCEIVER MODULE	US	8517620085	5A991		C33	2	each	\$35.50		\$71.00
PRE-QSFP28-LR4-CSCO	PRECISION BRANDED QSFP28 LR4 100G OPTICAL TRANSCEIVER MODULE (Cisco compatible)	us	8517620085	5A991		C33	4	each	\$237.50		\$950.00
PRE-QSFP-LR4-CSCO	PRECISION BRANDED QSFP LR4 40G OPTICAL TRANSCEIVER	US	8517620085	5A991		C33	16	each	\$207.81		\$3,324.96
PRE-SFP25G-CU3002M-CSCO	SFP28, Passive DAC, 25G, 2m, 30AWG, I-Temp	us	8544429090	EAR99		C33	22	each	\$12.62		\$277.64
TC55-B8051-G12. LENOVO	16TB Gen 12 Edge Server	us	8471500150	5A002		C50	7	each	\$8,000.00	)	\$56,000.00
TC55-B8051-G12-G. <b>LENOVO</b>	16TB Gen 12 Edge GPU Server	US	8471500150	5A002.2	_	C30	1	each	\$12,306.1	12	\$12,306.12
UPC3115123004	CAT5 PATCH CABLE, RED, 4M	MX	8544422000	EAR99		C33	3	each	\$4.90		\$14.70
UPC3115183002	CAT5 PATCH CABLE, ORANGE, 2M	MX	8544422000	EAR99		C33	11	each	\$2.12		\$23.32
Totals							106				\$76,070.75
	overnment and authorized for export only to the country of				Packing Costs						0.00
	identified. They may not be resold, transferred, or otherwis ultimate consignee or end-user(s), either in their original				Freight Costs						0.00
items, without first obtaining approval fro	m the U.S. government or as otherwise authorized by U.S.	law and regul	ations.		Other Transpor	rtation Costs					0.00
I certify that this invoice is true and corre	ct.				Landina						0.00

TOTAL INVOICE VALUE





Packing List							
EXPORTER:		Date	Invoice Number				
Cloudflare Inc., 101 Townsend St, San Fran	ncisco CA 94107, USA	Jun 27, 2024	5053				
		Internal reference number	Other references				
		SNM0624WS5053	127-104861				
IMPORTER:							
BIT Advanced Technology General Trading Shaker Al-Kazemi Building # 8, floor 3 and Khaled Ibn-Waleed Street,Sharq, Kuwait City 13160 Kuwait. Contact Name:Mr. Syed Abdul Qadeer Contact Number: +965-99757604							
Part Number	Total Number of Packages	Total Gross Weight	Total Chargeable weight				
110626-002M, 110722-002.1M, 14K13-F-072-BLU, 14K13-F-072-RED, B0795NH9Z2, DCS-7050SX3- 48YC8-R, GLC-T-GT, PRE-QSFP-LR4-CSCO, PRE-QSFP28- LR4-CSCO, PRE-SFP25G-CU3002M-CSCO, TC55-B8051-G12, TC55-B8051-G12-G, UPC3115123004, UPC3115183002,	2 Pallets (10 Boxes) 29 x 39 x 18 in 47 x 39 x 56 in	235 Kg	336 Kg				

Complete Item Description		Serial Number(s)	Country of Origin	Type of Item	
SM LC-LC FIBER OPTIC PATCH CABLE, 2M	10		VN	Cable	
MPO Fanout 8xF MPO F -LC SM G.657A1 MicroCable 3mm OD Plenum Yellow, 18IN Breakout, 2.1M	5		VN	Cable	
C13-C14 1.8M/6FT POWER CORD, 10A BLUE, C14 P-LOCK ONLY	11		CN	Power cord	
C13-C14 1.8M/6FT POWER CORD, 10A RED, C14 P-LOCK ONLY	11		CN	Power cord	
BENFEI Mini DisplayPort to VGA Adapter, Mini DP Display Port to VGA (Thunderbolt Compatible) Male to Female Adapter for ThinkPad SurfacePro PC	2		CN	Adapter	
Arista 7050X3, 48x25GbE SFP & 8x100GbE QSFP switch, rear-to-front air, 2xAC, 2xC13-C14 cords		JMX2252A1NV	MX	Switch	
1G SFP-T CO RJ45 CISCO COMPATIBLE TRANSCEIVER MODULE			US	Transceiver	
PRECISION BRANDED QSFP LR4 40G OPTICAL TRANSCEIVER	16		US	Transceiver	
PRECISION BRANDED QSFP28 LR4 100G OPTICAL TRANSCEIVER MODULE (Cisco compatible)	4		US	Transceiver	
SFP28, Passive DAC, 25G, 2m, 30AWG, I-Temp	22		US	Cable	
16TB Gen 12 Edge Server 7 MNH3242304X,MNH32423050,MNH3		MNH3242303T,MNH3242304U, MNH3242304X,MNH32423050,MNH32423051,MNH32423056,MNH324 23057,	US	Server	
16TB Gen 12 Edge GPU Server	1	MNH52424017	US	Server	
CAT5 PATCH CABLE, RED, 4M	3		MX	Cable	
CAT5 PATCH CABLE, ORANGE, 2M	11		MX	Cable	
TOTALS	106				



